OBO 000680000
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oooooo
o0 | ooo | oooo
DDDD‘DDDD(DDDD,M,DDDD)DDD‘DDDDDDDD
000000000 000 BLID(parameter) 0D 00 0 0 O

choooboboobbboooboooobbobooboooboooboobooog
gooooboboobbooboouobooboooood

QB.11 00 (Gnt)0 200000 twiceO DO DO OODO
O:

QB12 0000 chomeOOOOOOGODODO
double chome(double x) {

g

return 1.41 * x;

}

OO /+0 *#/0/*0 * 000027

#include <stdio.h>

/:’: D 7":/
int main(void) {
/7‘: |:| 7’:/
printf("%f", chome(10.0));
return 0;
/7‘: |:| 7’:/
3
/:’.‘ D 7':/

O:
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0 p.125

ooooooobo

00 \ ooo \ 0000
DDDDDD‘DDD(D,“qD)‘DDDDDDDDD
0oo0ooooo 000 BL20Grgument) 0 00 0 O O

O0O00OO00Ogg (expression)d 00O 0O
0ddoooOOoooODO0obO00oOoObO000o0bOo00ooobooOooooad
00o000o0ooooooooooooon

QB13 00000 twiceOODODOO1000 2000000000000
0:

O0O0O0Oecallbyvaluel O0O0O0O0OOO0ODOOODOO0OO0OOO0OOODOOOODO

oooooobobooogooogoo*orbobbobobboooboboooboo

goooooboboooobooboooooboo
gbogoobgoobuobobooboouoooboooooooooo

QB14 0D0DDOODODDOODOOOOODOD

#include <stdio.h>

void hogel(int x) {
X =1;

}

int main(void) {
int a = 0;
hogel(a);
printf("a=%d\n", a);
return 0;

U000 @0O0O0Oscope)y UOODODDOODOODODOOODDOOOOODOODO
goobooooobooboon

e OO 0OOLOOOOOODLDDOODODLDLDODOLbODObLOOOODLDODO
gboooobooboooooboooooo

e HUODOUOUOOOODOODLOOOOODLODODODO

e JO00O0D00OO0ODOOOODODOOOLDLDOUOODODODODOODDODDOO
obooooooo
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0 p.130
000000 00000000000000000000000000000
000000000

e 00O DOODOODLOOLODOOOOLODLODLDODOOOODLDOOOO
gogoobooboobboboouooubooobboo

- int,double 0000000000 0OOOOOODOOOOOO0OOOO
gooooooo

- gbooobooobobobobooboobooobooboobobooDbo
ooo
int,double 000 0000000000 ODOOODOOOODOOOO
goog

e 000 OODODDOOODDOOODDOOUODDOODDDOOOO
gboboobooooboooooon

QBl15SO0000O0OOOODOODOOOODOOOOObDOO

#include <stdio.h>
#define N 5

int sumArray(int v[], int n) {
int i, ret = 0;

for (i=0; i<n; i++) {
ret += v[i];
}

return ret;

}
int data[N] = { 2, 3, 5, 7, 11 };
int main(void) {

printf("0O 0O _%d0O O O \n",
return 0;

}

O00000OsumArray0 000 dataO0 O 00000000 OOOOOOOOO
o000
O:

QBl16 UDOUUOODOODOODOOD

#include <stdio.h>
void hoge2(int y[]) {

y[0] = 5;
}

Uoooobo I-0B0O p.3



int main(void) {
int b[1] = { 0 };

hoge2(b);
printf("b[0]=%d\n", b[0]);
return 0;

}

O:

0 p.141
000000000000 0000000000000000O0000000

ooboooooobboooobbooobogd
chooooooboboboboboboboobboobbobboooobooooog
gbooooobooooooooobo

QB.17 000D ODODOODLOO xO0O0OLD 30b0bDbOUUObDUOODbOUOUbObOO
gdbooobobioobooouoououooboobobo xgooboobaoo
ugoboobooooooon

#include <stdio.h>
intx=1; /*x 00 1 */

void foo(void) {
printf("A:_x=%d\n", x); /00 xOOOOOOO */
}

int main(void) {
int i;
int x =2; /*x00 2 */
printf("B:_x=%d\n", x); /¥ 00 x0OOOOOO0O */

for (i=0; i<2; i++) {
int x = 3*1; /*x0O0O 3 */
foo();
printf("C:_.x=%d\n", x); /* 00 xOOOODOO0O */

h
printf("D:.x=%d\n", x); /* 00 xOOOOOGOooOo =/
return 0;

h;

|:| .
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gboob0d cObOoboOonobOooobong,strageclassOO0O 200000
googg

e OO (automatic variable)
- 000000000000 000D0 staticOOOOOoOOoOOOOO

ggog

- gbbooooooobobbooboboboobooboboooboon
gboogbuoboobboobooboouobobobobobooboon

- 0000000000 0bOoO0o00oooooooDoooDo
e [0 00O (static variable)

- gooobobooboboooooouooobobobooboobooobg
UO0OstaticO00O000O00O0OO0O0OODOO

- gbbooboobooooobboboobboobooooooobo
gooooboboboooobobboboooooga

- Dobooogoooooboboobob obbOobOoOoOoo

QB18 DO0O0ODOOOODODOODOO

" #include <stdio.h>

int fugal(void) {
int n=0;
printf£("%d.", n);
n++;

}

int main(void) {
int i;
for (i=0; i<3; i++) {
fugal(Q);
3

return 0;

0:

#include <stdio.h>

int n=0;

int fuga2(void) {
printf("%d.", n);
n++;

}

int main(void) {

Uoooobogo I-0 B0O p5



int i;

for (i=0; i<3; i++) {
fugaz2();

}

return 0;

O:

#include <stdio.h>

int fuga3(void) {
static int n=0;
printf("%d.", n);
n++;

}

int main(void) {
int i;
for (i=0; i<3; i++) {
fuga3(;
h

return 0;

0:

QB.1Y9 00 QU 1,2,3.0Un=00 000000 DOO0ODOODODOOODOOOODO
goooo?

B2 ODOOO0OOOOO

0000 80000000 Oole0ooOoOOoOonoo  OooOoooooooo

0 p.158

100 | 80 | 160
48 | 060 | 0x30
65 | 0101 | Ox41
97 | 0141 | 0x61

QB.21 00000000 DOOODOOOOODOD

1. printf("%d", 0x31)--- O:

2. printf("%d", 0100) --- O:
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OooobD printf000000 800000 160000000000D0OO
UbO0O0O%,%x000000000000000O00000»xX0O000000000
goog

QB22 OO0 O0O---0DO000DOUOLDOODODOLOOODDOOOODODOO
ooooogo

1. print£C"[ J", 49) --- 61
2. printf(" |', 47)--- 2F

3. printf("[ ', 46) --- 2e

0 p.176
ooogobo goobooboboooobbbbooobboobooooboboooon
gbooooooboobbboobobobobobbbO00o0ObbOobobOO0Od(Table
7-4)
ob: "ODOoboboobooooooboooooboooboobbobooooo
gocooobouoooboooo

=0000 =0000&0O0O00 &OO0O0O10000 00000000
ooooog
B3 OD0OdooooboooonD...ooboo o4
U p.l

U0 (recursion) DO0O0ODOO0O0OOOO0O0OOO0OOO0O0O0 xOO0OOO xODO
gooooogd

int factorial(int n) {
if (n==0) {
return 1;
} else {
return n * factorial(n-1);

}

factorial (4)
— 4 * factorial(3)
— 4 * 3 * factorial(2)
— 4 * 3 % 2 * factorial(l)
— 4 % 3 % 2 * 1 * factorial(0)
_>4-.':37':2=':1~kl
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e OO0 for,whileOOODODODOOODOODOODO,00000000CODO
gooboboobobooobobbooobboboooboboboboobboon
gooboooooboboooobooooooboobbooboobon
gobooooobooobooon

e JOODODODODOOODOOODOOODODOODLDODOOOODLODO CO
gbboboooooooboobobooboboobooboobooboboaon
gboobooobobooboboobboooobooobobooooon
goooooooboobboboboobobod

QB31 0000OODOOOODODOODOO

1.
#include <stdio.h>

int piyo(int n) {
if (n<=0) {
return 0;
} else {
return n + piyo(n-2);
}
}

int main(void) {
printf("%d\n", piyo(6));

return 0;

O:

#include <stdio.h>

int hogera(int n) {
if (n<=0) {
return 1;
} else {
return n * hogera(n-1) * hogera(n-2);
3
}

int main(void) {
printf("%d\n", hogera(4));

return 0;
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